12 GA. GALV. STEEL 2

AR AT ACHED Gy ADJUSTABLE ROLLER CARRIER -
BRACKET ATTACHED W/(3 - C , | GALV. T
1/4* x 3/4° HEX HEAD s ATTACHED W/ (@) 1/47 x 1/2 14GA. CENTER HINGE ATTACHED 2 GAFIXG‘?LIJ-RE nggﬁgg‘b/g o BACK SKIN
SCREWS PER BRACKET < BOLT & NUT PER BRACKET W/ (4) 174" x 3/4*° 1/4* x 3/4° HEX HEAD 27 GA.
ol = HEX HEAD SCREWS ADJUSTABLE SLIDE BRACKET
= ATTACHED W/(® 1/4° x 1/2” .
BOLT AND NUTS ~ 4 1/2°H X 20 GA. (4" R-TRUSS)
[ ATTACHED W/(@) 1/4° X 3/4°
. - HEX HEAD SCREWS AT ENDSTILES AND
4 1/2°H X 20 GA. (4" R-TRUSS) (® AT EACH HINGE LOCATION INTO
2’ 10 BALL STEEL 9.5 4 1/2°H X 20 GA. (4’ R-TRUSS) ATTACHED . .
STEM ROLLER W/ 7/16" W/(2) 1/4° X 3/4" HEX HEAD SCREWS AT G A A S FRONT SKIN____| | THE BACK SKIN DN TOP SECTION
RETAINER FOR NON-THREADED ; 4 ENDSTILES AND (2 AT EACH HINGE UEeATION 24 GA.
SHAFTS LOCATION INTO BACK SKIN K
TYPICAL CENTER HINGE (" 5 4
TYPICAL TOP FIXTURES NTS CFC-FREE EXPANDED
NTS 1 TS POLYSTYRENE INSULATION
R=5.73, U=017
END HING
N
14 GA, END HINGE ATTACHED i
W/ (@ 1/4° x 3/4°
HEX HEAD SCREWS . 4 'IQ/ZS'ES(TI%(L GSAfAR—TRUSS [¢b]
PE CKED ON TH
e A SHEARED #3 14GA. DURASAFE END WINGES ATTACHED '
ROLLER CARRIER ATTACHED 14GA. ROLLER CARRIERS ATTACHED W/(3) 1747 x 3/4° HEX HEAD
] & T TO R-TRUSS W/ (@ 1/4° x TD END STILE W/ <3) 1/4° x 3/4° SCREWS AT EACH END STILE
= = 21 MAX 3/4" HEX HEAD SCREWS HEX HEAD SCREWS PER CARRIER AND W/(®) 174" x 3/4° HEX
- - R N VR s HEAD SCREWS AT EACH CENTER
— e A HEIGHDT STILE LOCATION
8 : =) ! 2’ 10 BALL STEEL 95 ,
— 4 1/2°H X 20 GA. (4’ R-TRUSS) STEM HURRICANE ROLLER BOTTOM BRACKET I
e ] ATTACHED W/(3> 174 X 3/4 W/ 7/16° RETAINER FOR ATTACHED ' 3* x 20 GA. GALV STEEL STRUT
. HEX HEAD SCREWS AT EACH END NON-THREADED SHAFTS W/ (4) 1/4" x 3/4" 3 ATTACHED W/(2) 1/4° x 3/4° HEX HEAD
: HINGE LOCATION {IEX HEAD SCREWS 3~——SCREWS AT EACH END STILE, EACH
o : CENTER STILE, AND HALF WAY BETWEEN
EACH CENTER STILE LOCATION STACKED
TYTPICA'- END HINGE [ 3 ON TOP OF BOTTOM BRACKET
N.TS. CONTINUDUS ALUMINUM EXTRUSION

WITH CONTINUDUS BOTTOM SEAL

SECTION A—A (SIDE VIEW)

N.T.S.
BOTTOM BRACKET
3”7 20GA. STRUT ATTACHED W/ 1/4° X 3/4*
e e )| SSRGS ARG U S
] (@ HALF WAY BETWEEN EACH CENTER STILE HEX HEAD SCREVS
Y
18/-0" REV | DESCRIPTON OF REVISIONS DAE | BY
e £ B e
INSIDE_ELEVATION W/ 7/16  RETAINER FOR
N.T.S. NON-THREADED SHAFTS MAX SIZE — =
18’ WIDTH s N
14’ HEIGHT |28 S
(DOOR HEIGHT SUBJECT| 82 =
TYPICAL BOTTOM BRACKET 4 TO WEIGHT LIMITATIONS)| & & s
N.T.S. xE
DESIGN LOADS | &% i
SPECIFICATIONS AND NOTES 1254 PSF | 82 (/Q/
(1) 5/16" DA x 1-5/8" 1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED “287PSE |54 <
LAG BOLT ATTACHED TO JAMB M 2-5/8" X 3-1/2 18GA STOP MOULDING AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. TEST LOADS | 23 E
AT EA. JAMB BRACKET Ifl;Ing'l:_ gggfﬂ P TH;‘J EAr\?llj- UBEéJTTTc[l]M ‘(NS/UPFFI’_EIEELEYS:;ASLTALLER) EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: (1.5 x DESIGN LOADS)| 153 2
DE EDGE AT TOP AND BO +228.6 LBS/FT & —258.3 LBS/FT ) +381 PSF | 22 z
& svp oR SPF 2. DOOR SECTIONS SHALL BE 24 GA. MIN. (.0216”) ROLLED FORMED LIGHT| =-43.1 PSF | 5% o
/— (NO. 2 OR BETTER) INTERIOR OF GARAGE COMMERCIAL QUALITY =3 S
ol wom 18 e 3. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED i
, p : BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
. 74 % 7 . INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
7/ 77 I JAMB DESIGN LOADS OTIrraTTn
20 A CALV. STEEL MRIIBYA st NomEs THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN DASMA 1es comna NN REMATIC o o70s
] 108. THE PRESSURES SHOWN ON THE DRAWINGS WERE R
174-20 x S/BTRACK CALCULATED USING ASCE 7-98/02/05 WITH THE FOLLOWING MODEL #1200 HERITAGE 3000
DR @ RIVETS TRACK_MOUNTING DETAIL PARAMETERS (5 FEET OF DOOR WIDTH IN THE END ZONE, . MODEL #1200 OAK SUMMIT 3000
2" GALV. STEEL TRAC = .
NTS. 2" GALV. STEEL TRACK. ROOF_AT ANY SLOPE, AND I=1.0): , SHORT, LONG, FLUSH & OAK SUMMIT PANELS
WIND SPEED (MPH) | 130 | 118 | 112 | 107 | 103
EXPOSURE LEVEL 5 c c 5 S SZE| ORAWNBY  RIR| DATE 07/10/14 DRAWNG NUMBER
MEAN ROOF HEIGHT | 30 15’ 25 | 15 25’ B | oecke g DATE IRC-1218-130-24
SHEET 1 OF 3




OPTIONAL SHORT AND LONG PANEL GLAZING LAYOUTS

GLAZING MEETS ASTM E1300-04

B B
- A
| ﬂll i ¥
I I 0 = [&

T0OP SECTION

SE

A idiay

14GA. DURASAFE

CENTER HINGE ATTACHED
W/ (4) 1/4" x 3/4*

HEX HEAD SCREWS

INTERMEDIATE SECTION
NTERMEDIAT TION NTERMEDIATE SECTIO 4 1/2* 20GA. R-TRUSS

ATTACHED W/ @ 1/4" x
3/4° HEX HEAD SCREWS
AT EACH CENTER STILE

4 1/2’ X 20 GA R TRUSS
ATTACHED W/ (2> 1/4° X 3/4"
HEX HEAD SCREWS PER STILE

18-1/8°———— 38-1/8°
— = = — = = = = = R-TRUSS SPACER
o e R-TRUSS SPACER
‘ E > R-TRUSS SPACER (=
10-5/8° 10-5/8* . N.T.S.
R-TRUSS SPACER 54
2 2, o2 % N.TS.
REV | DESCRIPTION OF REVISIONS DATE | BY
M P o2 ] [ 3 2, 3¢ 02 ) 2
LONG PANEL GLAZING FASTENER DETAIL
SHORT PANEL GLAZING FASTENER DETAIL NTS WOOD JAMB ATTACHMENT TO STRUCTURE MAX SIZE .
NT.S. > 18’ WDTH_ |53
14’ HEIGHT |&Q
2 X 6 VERTICAL JAMB ATTACHMENT TO wOOD FRAME STRUCTURE (DOOR HEIGHT SUBJECT| % S
5716° X 3° LAG SCREWS STARTING 6 FROM ENDS THEN 20’ O.C. <1 1/2° EMBEDMENT) T0 WEIGHT LIMITATIONS)| &2 '
X_6 VERT ATTACHMENT T p NCRET xE
HILTI KWIK BOLT 3/8° X 4° STARTING 6’ FROM ENDS THEN 24° O.C. (2 1/2° EMBEDMENT) Es
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6° FROM ENDS THEN 18” O.C. ¢1 1/4° EMBEDMENT) DESIGN LOADS |& x
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8° X 4 STARTING 6’ FROM ENDS THEN 24“ O.C. (2 1/2° EMBEDMENT) | | +25.4 PSF g5
X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK ~28.7 PSF 5%
SIMPSON 1/4° X 3° TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS 2
(3* APART) AT 8 O.C. (1 1/2° EMBEDMENT TEST LOADS |SE
HILTI 1/4° X 2-3/4° KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF (1:5 x DESIGN LOADS)| & g
FASTENERS (3 APART) AT 87 O.C. (1 1/4° EMBEDMENT) 42
+38.1 PSF [ 2E
2 X 6 VERTICAL JAMB ATTACHMENT (2000 PSI_GROUD —43.1 PSF §%
GLAZING OPTION CROSS SECTION HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6 FROM ENDS THEN 287 O.C. < 1/4° , £
S STNE N AVATLASLE TN/ IND=BORNE DeBRIS RECIAN EMBEDMENT) (DR, USE FASTENERS FOR HOLLOW C-S0 BLOCK)
DearaFrame WINDOW FRAME *LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
WITH UV PROTECTION / SVIRTEOBCLPE%?F?C'I[?IOSSRTS *PREPARATION OF WOOD JAMBS BY OTHERS
MIN. 3/32” THICK SSB | | \ —
wOoD CONCRETE HOLLOW BLOCK
GLASS - GROUTED BLOCK ENTREMATIC
/ / & STRUC_TURE STRUC_TURE STRUCTURE STRUCTURE 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105
=
Q \ \ Y \ MODEL #1200 HERITAGE 3000
10 48 X 3/ z | = i MODEL #1200 OAK SUMMIT 3000
AN HEAD SCREWS B | I SHORT, LONG, FLUSH & OAK SUMMIT PANELS
AT EACH WINDOW FRAME MOLDED INSIDE FRAME 1/2* MIN 2-3/4" MIN 1-1/2 |MIN 4 SZE| DRAWNBY  RIR| DATE 07/10/14 DRAWING NUMBER
SECTION B-B g, JAME ~tom B | cHecken By DATE IRC-1218-130-24
SHEET 2 OF 3




TABLE 3 TABLE 4

. Max Design Loads i Center Stile Locations
TABLE 1 Section Allowed Section (Measured from Left Edge)
Panel Type

DOOR SECTION HEIGHTS width | PaNS TP [ o ocitve | Negitie Width
HEIGHT

() (PSF) | (PSF)

164 Long 27.9 31.5
16" 4 /
166 Long 31.2 % :
Oak Summit
1}
Long f
Oak Summil
] 5
g |5 5 g
® 3 E
174 | Long 262 | 297 5 34;!' E 21l 3
' 17 4 |Oak Summit E 3| z q z
” = > ? I w o e §
TABLE 2 176 Long 26.0 | 29.4
17''6 |Oak Summit] 26.0 29.4
DOOR SPLICE el
. I
H S 17'8 Long 25.7 29.1
EIGHT 17''8 |Oak Summit|] 25.7 29.1 i -
: 180_|Oak Summii 53.92 | 10.00 | 162.09 AVAILABLE TRACK CONFIGURATIONS
Long - N.T.S.
17':10 |[Oak Summit] 25.5 28.8 - REY DESCR{PHON OF REVISIONS DATE BY
Long ) . =
180 |Oak Summit] 25.3 28.6 MAX SIZE = 5
SPLICE TRACKS AT THIS LOCATION 18, W’DTHT a3 N
W/(4) 1/4"=20 TRACK SPLICE BOLTS & NUTS 14" HEIGHT | =8 o
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8" (DOOR HEIGHT SUBJECT| 2O z
LAG BOLTS TO WEIGHT LIMITATIONS) E.-.y‘; [
FEE 2 /
DESIGN LOADS | &3 g
+25.4 PSF g< é(}’
ﬂ -28.7 PSF = ¥ 9
FTirad <<
£9 >
TEST LOADS | 2% i
(1.5 x DESIGN LOADS)| 15 g
+38.1 PSF | g€ =
—43.1 PSF 56 o
= S
(SPLICE> il
12 GA. cAlév. STEEL
M JAMB BRACKETS rr
E — ATTACHED W/(1) 1/4"-20 a
TRACK SPLICE BOLT & NUT
ENTREMATIC
165 _CARRIAGE COURT WINSTON-SALEM, NC. 27105
f MODEL #1200 HERITAGE 3000
MODEL #1200 OAK SUMMIT 3000
z— SHORT, LONG, FLUSH & OAK SUMMIT PANELS
ALL TRACK ATTACHMENT SPACING +/- 1/4* ALLOWED ! SIZE! DRAWN BY RIR| DATE 07/10/14 DRAWING NUMBER
WITH SYP OR SPF NO. 2 OR BETTER ONLY IRC-1218-130-24
TRACK CONFIGURATION FOR 6’6" UP TO 14’ TALL DOORS (SEE TABLE 2) B | cHecken By DATE
N.T.S. SHEET 3 OF 3




